Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

2.5

2.0

15

1.0

0.5

0.0

-0.5

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

1A1742-294-JEMX2-MJID52893.574187_lc.txt / MJID 52893.574213 / burstid=4440

; Grey line: exponential fit Peak flux: 1.818+/- 0.650 c/s/cm? 7:
C Black line: power law + gauss fit Fluence : 17.814/- 5.84 c/em? ]
= Dashed fine: power law Duration : 2217+ 15.53 s =
- Best fit model: 2. B
- Best fluence model: 2. 7
- Best duratjon model: [1. B
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; Exponential fit é
= Expon.time: 5.11+/- 6.76 s (chi*red= 1.15) =
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; Power law fit é
E Power law index: -1.957+/- 0.535 (chi*red= 1.13) =
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—  Power law fit plus Gaussian (st.dev.= 51.88+/-59.75 s, fracgs= 0.09+/- 0.16) =
- Power law index: -2.398+/- 1.517 (chi*-red= 1.13) 7
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